Web
Email
Facebook
Twitter

Google+

Deze download wordt u gratis aangeboden door Pick-upnaalden.nl

www.pickupnaalden.com
info@pick-upnaalden.nl
www.facebook.com/pickupnaalden
twitter.com/Pickupnaalden

https://plus.google.com/+FCaris_pickupnaalden


http://www.pickupnaalden.com
mailto:info@pick-upnaalden.nl
http://www.facebook.com/pickupnaalden
https://plus.google.com/

STEREO TURNTABLE

NBT

-134-05

{ART



Klepaczewski

Klepaczewski

Klepaczewski

Klepaczewski

Klepaczewski


. SPECIFICATIONS
. PARTS AND THEIR FUNCTIONS . .ottt 3
. OPERATION OF MOTOR AND MECHANISM

CONTENTS

3.1 Y e 2o R I I 5
3.2 Prior to Start of Playing .. ..ot ettt e e e 6
3.3 REtUrN OPEration ...\ vvvt i tin e 7
3.4 Stopping Under Manual ...... ... 8
. ADJUSTMENT
4.1 Tonearm Wili Not Returnto The Arm Rest . ... ... vt 9
4.2 Tonearm Returns to The Arm Rest Before The Record Finishes ............... 9
4.3 Tonearm Return Speed ISINCOMTECt .. .o vt it 9
4.4 Tonearm Stops before It Reaches The Arm Rest ... 9
4.5 Tonearm Hits The Insideof The ArmRest . ... o i ii i 9
4.6 Tonearm Boundsin The Arm Rest . . ... oo it ii i i e 10
4.7 Arm Elevator Will Not Moveat A CorrectSpeed ... .. ..o, 10
4.8 Turntable Will NOt TUFR OF StOP .« oo v v i e i i i e et ne e 10
49 Adjustment of The Shorting Switch (070131 2- o1 = TP O 10
4.10 AdjuStMEnt ProceduUre ... ... evenens st 10
4,11 Adjustment of Motor Speed and Line Voltage Selector .. ...........covivnnnn 11
. SCHEMATIC DIAGRAMS AND P.C. BOARD PATTERN

5.1 Schematic Diagrams . ... oo it i it e 12
5.2 Power Supply Circuit Assembly ... ..o 13
EXPLODED VIEW

6.1 COMEENTS & & v v v e e e e s et e e aseeae e anasaneaane e tanan e e ey 15
6.2 MBI PANEL o ottt e e et te et e et e e 17
6.3 Auto Return Assembly (PXA-056) ... i 18
6.4 Speed Selector Assembly (KXA-766) . .....oovviiiiniieii e, 19
6.5 N s -\ o s HE P I 20
6.6 CirCUIT BOard & v oo s e et e et e e 21
6.7 Anti-Skating Assembly (KXB-216) ... . ..ot 22
6.8 PU-Plate Assembly (PXA-065)  « .. v ittt e 22
6.9 Power Supply Circuit Assembly (KWR-033) ... ...covviiiinn 23
6.10 Start Lever Assembly (KXA-761) ... i 23
B.11  UPPerBoard ... .. .viiti e z4
B.12 UNder Board ... ..t e i e e e s 25
B.13 PackingMethod . ...ttt i i ittt i e 26
B.14  ACCESSOTY CBSE . o vttt it eeieeace ittt nt i ea e e 27


Klepaczewski


1. SPECIFICATIONS

Motor and Turntable

Motor: Brushless DC servo motor

Turntable Drive: . Direct-driven

Speed: Two speeds, 33-1/3, 45 rpm

Wow and Flutter: 0.05% (WRMS) or less

S/N: 58dB or more (in case of
using Pioneer cartridge model
PC-50)

Turntabie Platter: 31cm diam. Aluminum-diecast
alloy

Tonearm

Tonearm Type: Static balance, S-shaped, pipe
arm

Effective arm length: 221 mm

Usable Cartridge Weight: 4g (MIN) to 14g (MAX)

Overhang: 15.5mm

Subfunctions

Automatic Return Tonearm System

Skating Force Canceler

Viscous-damped arm elevation

Plug-in type Light Aluminum Head Shell

Dust Cover with Free Stop Hinges

Wooden Base with Anti-acoustic Feed back Suspension
Strobolight

Accessories

Weight Plate (cartridge weight adjustable) 1
Cartridge Mounting Screws 10
Cartridge Mounting Nuts 2

Cartridge Mounting Washers 2

45 rpm Record Adaptor 1

Screwdriver 1

Sub weight 1

Overhang Gauge 1

Connection Cord 1

Operating Instructions 1

Miscellaneous

Power Requirements: AC 220V
50/60 Hz

Power Consumption: 5.2W (MAX)

Outer Dimensions: 480(W) x410(D) x185{H)mm
18-7/8(W) x 16-1/8(D) x
7-5/16(H) in.

Weight: 11.3 kg 24lb 150z

NOTE:

Specifications and the design subject to possible modifi-
cation without notice due to improvements.


Klepaczewski


2. PARTS AND THEIR FUNCTIONS

Stroboscope ——
Refer to the accompanying illustration for positioning of
the strobo in respect to the line frequency and turntable
speed. On moving the function lever from OFF to ON/UP
and DOWN, strobolight is lit.

STROBOSCOPE

STROBOLIGHT

Cartridge Stylus Cover

Bring the cartridge stylus cover into position when the
PL-55X is not in use as shown in the accompanying
illustration.

45 rpm Record Adaptor
A 45 rpm record adaptor is supplied in the accessory
group, which permits 45 rpm EP records with large center
holes to be played.

Function Lever

At ON/UP

The turntable is driven. In moving this lever from DOWN
to this position, the tonearm (stylus) lifts slowly from the
record surface, thereby interrupting operation,

At DOWN
The tonearm is brought into position over the record.

~ Setting the lever to this position gently lowers the stylus

onto the record. Playing starts at this time.

At OFF

Moving the lever to this position from DOWN causes the
tonearm to lift and return to the arm rest. Pover is cut off
and the turntable stops.

NOTES:

1. On moving the function lever from DOWN to OFF
pause at the ON/UP position until the aim lifts from
the record. Failure to do so may cllow the stylus to
bounce against the record and drag acrossit.

2. Also once you have moved the function lever to
DOWN you cannot immediately return it to OFF or
ON/UP.

3. Wait until the tonearm has floated doron on the
record and begun to play. Only the playing may be
interrupted.

AREAS
T BMBLTADN
azz <
QAN e,
°
DEe
AN /
e’



Klepaczewski


— Arm Rest
The arm rest supports the tonearm. The tonearm shouid
always sit on the arm rest when a record is not in use.
Ordinarily, the arm clamp should be engaged to lock the
tonearm in place on the rest.

ARM CLAMP

——Fine Speed Adjustment Knob

With the turntable operating at 33-1/3 or 45 rpm, make
fine speed adjustment while observing the stroboscope.
Turning the knob in the (+} (clockwise) direction in-
creases speed while turning it in the (—) (counterclock-
wise) direction decreases speed. Marks on the turntable
must appear to ‘‘stand still"’ under strobolight, indicated
correct speed.

= 33-1/3 rpm
P BTIRCED
c-g 45 rpm

— 33-1/3 rpm Speed Switch
Push this switch if 33-1/3 rpm records are to be played.

— 45 rpm Speed Switch
Push this switch for 45 rpm operation.

d - 33-1/3 rpm

o — 45 rpm

PL-55X

OPERATION

Operation of the PL-55X is uncomplicated. Use the

following procedure.

1. Place the record to be played on the turntable.

2. Move the cartridge stylus cover out of position.
Release the arm rest clamp.

3. Move the function lever from the OFF position
to the ON/UP position. At this time, the
turntable begins to turn.

4, Push the speed button (33-1/3 or 45 rpm)
corresponding to the speed of the record to be
played.

5. With the strobolight on, adjust the fine speed
control until the turntable appears to “stand
still”. Turning this control in the (+) direction
raises the speed, while turning it in the (—)
direction decreases the speed.

6. After the speed has been set to the proper value,
carefully move the tonearm into position over
the lead-in record grooves to be played.

7. Set the function lever to DOWN. The tonearm
drops gently to the record grooves and playing
begins.

8. To stop playing at an intermediate point, move
the function lever to thie ON/UP position. If
operation is to be suspended, move the function
lever to the OFF position. (This action returns
the tonearm to the arm rest and stops the
turntable).

9. Upon completion of playing, the tonearm re-
turns automatically to the arm rest and the
turntable stops. The function lever returns auto-
matically to the OFF position.



3. OPERATION OF MOTOR AND MECHANISM

3.1 MOTOR

Construction of motor control for the PL-33X is

depicted in Fig. 2.

1. Applying power sets the oscillator into opera-
tion. Output of this circuit passes to the pole
position detecting circuit (L1 ~ L86).

. Here, assume that coupling between L1 and L4
is the tightest. Voltage induced in L4 is rectified
and applied to Q106/Q109 in the driver.

. Q109 in turn conducts and causes current to
flow in the associated drive coil (A-1). The rotor
moves in the direction shown by arrow in Fig. 1.
The magnetic pole affixed to the rotor induces a
voltage proportional to rotor movements, in the
sensing coil (A-4).

. Voltage induced in A-4 is rectified by a diode in
the speed sensor and applied to Q103 in the
control stage. This point is also fed from the
reference voltage generator (voltage Es) through
a fine speed control pot.

. Voltage applied to the base of Q103 in the
control stage controls current that flows in
Q104.

. Q104 serves as a constant current source for
Q106 through Q111 in the driver and therefore
controls current flow in the drive coils.

Pole Position Detector

Fig. 1 shows a simphfied view of the drive a.nd
sense  coils. With power applied and coupling
betwevn L1 and L4 high, Q109 causes current t_O
flow through A-1. As a result, the rotor end of coil
A-1 becomes a south pole (S1) and attracts N1.
The rotor moves in the direction shown by arrow.
Coupling factor between L2 and L5 increases and
operation of Q110 causes current to flow in coil
A-2. Pole S2 attracts pole N2 and rotor rotation
continues. In the same manner, S3 attracts Pole
N3. Continuation of this process causes the rotor
to turn on a steady basis.

ROTOR

DIRECTION OF
ROTATION

POLE POSITION

7. When ambient temperature change causes driver DETECTOR Fig. 1
current to rise, the speed of rotation increases
above the rated value. Q104 current increases
and Q106 ~ Q111 currents decrease. As a result,
the speed of rotation falls off.
CONTROL STAGE
+8 +8
OO Q.og
3i3'n
ANV
€5 Tus
€o
Qo2 !
Qio
0-03 i
S
OSCILLATOR REFERENCE VOLTAGE
GENERATOR
— -8
g" 9 67) Oros ! S o §
Ly T~ | v
t{ Quos —@ A-l| g \_4-4
¢ ‘@ > »
L2 E_J —@ -2 8 B a-s
l-: Ol07 N
I~ e ) L
b Se | " la-3g B a-6 L
Le Quoe
Qun T
— Fig. 2
POLE POSITION DRIVER DRIVE SENSING SPEED SENSOR

DETECTOR

COILS COILS


Klepaczewski


3.2 PRIOR TO START OF PLAYING
1. After the tonearm has been swung into place for 3. Moving the FUNCTION lever to the DOWN

the start of playing of the record, moving the position turns plate (1) still further through link
FUNCTION lever to the ON/UP position causes (1). Pawl (2) engages plastic arm (1).

plate (1) to turn through connecting link (1) to 4. The arm elevator riding on the cam portion of
the point at which pawl (1) engages plastic arm plate (2) drops, lowering the tonearm onto the
(D). record.

2. Plate (2) turns along with plate (1), through 5. Pawl (8) of plate (2) applies pressure to plastic
action of interconnecting spring (1). Upon com- arm (2), so that there is no interference to
pletion of this action, the microswitch actuator motion of the stop required for automatic
is released, thereby applying power to the phono return operation.

motor. The turntable begins to revolve.

PLATE(1)

MICROSWITCH

LINK(1) ACTUATOR

FUNCTION
LEVER

PIN OF PLASTIC ARM
PLASTIC ARM({2)

No interference to
movement of plastic (
arm.

Cam action allows
tonearm to drop.

PLATE(2)

Fig. 4


Klepaczewski


3.3 RETURN OPERATIONS

1.

When the tonearm is going to come to the inside
(end) of the record, the pick-up lever applies
pressure to the aluminum arm. This means that
the arm is coupled indirectly to the plastic arm.
Resultant action causes the end of the plastic
arm to swing toward the center of the turntable.

. As soon as the tonearm enters the return groove

of the record, the pin on the bottom of the
turntable imparts a kick to the plastic arm.

. Motion of the plastic arm at this time acts on

plastic arm (1), thereby releasing plate (1).

. Plastic arm (3) then locks plastic arm (1). This

action closes the shorting switch so that noise
will not be generated as the tonearm separates
from the record.

. Plate (1) returns through action of spring (2).

Plate (2) also returns.

TURNTABLE SHAFT

Playing operation. Return operation.
PLASTIC ‘ el
PIN ARM

ALUMINUM
Plastic arm does not  Plastic arm kicked ARM
move during normal ' when tonearm enters
play. return groove.

PLASTIC ARM

W PLASTIC ARM

PL-55X

.Return of plate (1) results in the following

sequence.

Pressure is applied to plastic arm (1) and the
FUNCTION lever is forced back to the OFF
position.

Action of link (2) returns the aluminum arm to
the start position.

. Return of plate (2) results in the following

sequence.

Action at the cam portion of plate (2) lifts the
tonearm from the record.

Plate (3) indirectly coupled to plate (2) swings
the tonearm back to the arm rest.

Pressure is applied to the microswitch actuator,
opening the microswitch contacts and stopping
the phono motor.

Pressure applied.

\g ', PICK-UP LEVER

Pick-up lever and
tonearm directly
connected by shaft.

Fig. 5

Cam action lifts tomnearm

PLASTlC‘Q \ while motion of PLLATE(3)
ARM({1) M pLATE(3) swings tonearm tack to the
arm rest.
SHORTING
SWITCH
Pawl disengaged when PLATE(2)
plastic arm kicks plastic
arm{1).
MICROSWITCH
MICROSWITCH ACTUATOR Fig. 6



Klepaczewski


3.4 STOPPING UNDER MANUAL

1.

Moving the FUNCTION lever to the ON/UP
position causes pawl (1) of plate (1) to engage
plastic arm (1). Phono motor operation begins.

. Moving the FUNCTION lever to the OFF

position causes plastic link (4) to shift, in turn
desengaging pawl (2) from plastic arm (1).

. Action of spring (2) returns plate (1). As a

result, the phono motor stops, as described
under (6) and (7) on page 7.

. Moving the FUNCTION lever to the DOWN

position initiates playback of the record.

When this lever is moved from the DOWN to the
OFF position, pawl (2) is disengaged from
plastic arm (1) through action of plastic link (4).
The phono motor stops, as described under (4)
through (7) on page 7.

PLASTIC ARM(1)
"""/,,,,, SPRING(2) \

| i
B PLASTIC
_—PAWL(2) ARM{1)

SHORTING .g,

SWITCH \ g
PAWL(1)

T 7—-‘

_\__If

PLASTIC LINK(4)

re

PLASTIC LINK{4)

PLATE(1)

Fig. 7


Klepaczewski


4. ADJUSTMENTS

4.1 TONEARM WILL NOT RETURN TO

THE ARM REST
If the pin at the back of the turntable is not (or
incorrectly) engaged with the plastic arm the
tonearm will not return to the arm rest. The
probable causes of the trouble are as follows;
(a) The tip of the plastic arm bends downward.
(b) The pin is bent.
(¢) The pick-up lever is incorrectly mounted.
In case (a) or (b) is responsible for the trouble,
correct the curve of the plastic arm or the bend of
the pin. If necessary, replace the plastic arm as the
case may be.
In case (c¢) is the cause of the trouble, adjust the
screw provided at the tip of the pick-up lever so
that the pick-up lever will push the aluminum arm
when the head of the tonearm reaches the point of
130¢ from the center of the turntable (Fig. 8).

4.2 TONEARM RETURNS TO THE ARM
REST BEFORE THE RECORD FINISHES
The pick-up lever is incorrectly mounted. The best
solution to this trouble is to replace the plastic
arm.
This trouble also occurs when the plastic arm fails
to move smoothly. Oil the automatic return
mechanism.

4.3 TONEARM RETURN SPEED IS
INCORRECT

If the return speed is too slow, first insure that the

cause is not due to dirt.

Adjust spring (2) tension to give the correct spring,

increasing tension to increase speed and reducing

tension to decrease speed (Fig. 9).

~ Turn the nuts.
7

Fig. 9

PL-55X

4.4 TONEARM STOPS BEFORE IT
REACHES THE ARM REST

This trouble occurs when the plate (1) and the

plate (2) fail to move smoothly.

Oil the plate (1) and plate (2) first and see if they

move smoothly,

If not, replace them.

4.5 TONEARM HITS THE INSIDE OF
THE ARM REST

See if the head of the tonearm rises 5 ~ 10mm off
the turntable with the FUNCTION lever set to
OFF. If the tonearm rises incorrectly, adjust the
height of the arm rest by means of the screw
provided on the arm rest base; if not, adjust the
height of the elevator rubber by means of the
adjust screw on the elevator arm shaft (Figs. 10,
11).

t UP AND DOWI

SCREW

ARM REST BASE

Fig. 10

Fig. 11


Klepaczewski


4.6 TONEARM BOUNDS IN THE ARM

REST
The tonearm hits the inside of the arm rest and
bounds. The tonearm moves too fast, correct the
speed in the manner described in “Tonearm return
speed is incorrect”.

4.7 ARM ELEVATOR WILL NOT MOVE

AT A CORRECT SPEED
Adjust the tension of the spring (1) attached to the
plate (2). Turning the screw clockwise will make
the plate (2) move slowly: turning it counterclock-
wise will make the plate (2) move fast (Fig. 12).

4.8 TURNTABLE WILL NOT TURN OR
STOP

This trouble indicates that the microswitch is not

functioning correctly. Repeat automatic return

cycle several times and adjust the microswitch

actuator so that it performs ON, OFF action

correctly (Fig. 13).

4.9 ADJUSTMENT OF THE SHORTING
SWITCH CONTACTS

If the shorting switch does not contact at the very

moment the tonearm starts returning, a pulse noise

may be reproduced through the speakers.

4.10 ADJUSTMENT PROCEDURE

1. Set the FUNCTION lever to the OFF position.

2. Confirm that the plastic arm (5) is at the
position shown in Fig. 14. If necessary, pull
plastic link (4) so that (5) moves to this
position.

8. Loosen the screw fixing the shorting switch
contacts so that no gap remains between plastic
arm (1) and the molded portion of the switch
assembly.

4. At this time, contact clearance should be
0.3~ 0.7 mm.

10

PLASTIC
ARMI(1)

0.3~0.7mm -

/7

TR !-l %

l SHORTING »\ TN )

SCREW ig SWITCH . H“m\un
Ny -

SPRING(1}

FUNCTION LEVER
Fig. 13

PLASTIC pLASTIC
ARM{1}  ARM(5)

{

A PLASTIC

ARM(1)

PLASTIC LINKI(4) Fig. 14


Klepaczewski


4.11 ADJUSTMENT OF MOTOR SPEED

When adjustment of the fine speed control does

not give a satisfactory speed, adjust the motor in

accordance with the following procedure. Use screwdriver

1. Remove the bottom cover. for adjustment

2. Set the fine speed control to the midposition.

3. While observing the edge of the turntable platter
with a strobo, adjust screws inside the motor as
shown in Fig. 15.

4. Alternate switching between 33-1/3 and 45 rpm
speeds while making adjustment. Make sure that

- both speeds are correct.

First set knob to
midposition

Fig. 15

11


Klepaczewski


5. SCHEMATIC DIAGRAMS AND

5.1 SCHEMATIC DIAGRAMS

P.C. BOARD PATTERN

GREEN
Rch QUT ===z =—=- == -zoooos g—f—g::gfgs
Lch OUT ef———==———=="—="—= o= g Oo"—\WHlTE
£ = o)
SPEED SELECTOR BODY
33rpm
S
ﬂ_-__
ZSrpm
M)
ﬂ‘]:‘ ORANGE YELLOW

BLACK

SIBO"O] 010125 0234

Rioz

L5 680

e~
)
ST3

C 1y 330735
+

[$])

1t
[} ]
Cp3 100/25

e

€4, Cz ... 0.033 uF KWR-033

POWER SUPPLY CIRCUIT ASS’Y

25D234

|

12


Klepaczewski


5.2 POWER SUPPLY CIRCUIT ASSEMBLY (KWR-033)

[T — -
| Dior~ 104 STBO1-01 2,0, 250234 js
FUSE ” Pl ! Y
1 ?—(}\,o—o ==
35mAT ¢ 5 N - + & :
! S i% Rz RS
| " © 2 680 -T2 |
| »t g B4 |
2?—11 (&) LU'? ™
I — 4 = ‘wl’e
| Do WZ2-192 |
e e e e - . —— — ——— ———— —— — o ——— — J
Foil Side
Cio2 /o
— 315mAT —— ;“ﬁ'*’ o
- N 33/35
ge———=
° 1 Dior ~ Dios °
o o—pt— o
SIBOI-01 x4
o—4g—o o—Ppf—=o
°. 2
o o
e o
s 18 24 8l g¢° @;m
SZS 5% g% o7y
°© 4 s E7 & = 25D234
(o] C103+ OG
F‘ [o]
100/25
o o
o 3 I o
(o]
KWR-033

13


Klepaczewski


NOTE:

PL-55X

e CAPACITORS: INUF UNLESS OTHERWISE NOTED p: pF
e RESISTORS: INSl, %W UNLESS OTHERWISE NOTED k: k), M: MQ)

CAPACITORS SEMICONDUCTORS
Symbol Description Part No. Symbol Description Part No.
C101 Electrolytic 330 35V CEA 331P 35 Q101 Transistor 2SD234
C102 Electroiytic 33 35V CEA 330P 35
C103 Electrolytic 100 25V CEA 101P 25 D101 Diode SiB01-01
0102 Diode S1B01-01
D103 Diode SIB0O1-01
RESISTORS D104 | Diode SIB01-01
Symbol Description Part No. D105 Zener diode WZ-192
R101 Carbon film 680 RD%PS 681J
R102 | Carbon film 680 RDY%PS 681 OTHERS
Symbol Description Part No.
Fuse 315mA KEK-008-0

14


Klepaczewski


6. EXPLODED VIEW

6.1 CONTENTS

Tone arm
- See page 20 y board NOTES: PS ... Pan head screw
pper boar T oeveereens Tapping screw

'Ne page 24 SemsA ... Pan head screw + Spring washer

. SemsB ... Pan head screw + Spring washer + Flat washer
SemsF ... Pan head screw + Flat washer

Flat washer

......... Spring washer

........... Nut

E-type washer

Main panel
See page 17

=

.

Power supply circuit PU—plate }
) ) See page 22

—% See page 23
- ¥

&

Td

Circuit board “See pagé_zi

|

Speed selector See page 19 Auto return asse&nbly See page 18

18 18


Klepaczewski

Klepaczewski

Klepaczewski

Klepaczewski


6.2 MAIN PANEL

By

Panel float spring
PBH-006

————————

ame plate

PAM-003

Strobo lamp—

PEL-005 '/
Buffer

PEC-004 g
1.

Angie

Panel floatyring %
PBH-007 S

Buffer

PEC-004

Ring
KAH-007

Sems A
M4 x 10

g
§

PBH-006

Buffer
PEC-004

Rubber mat
KEB-058

| Turntable p
4 PXA-050 or
B KXA-758

Stopper \
KXA-764 v/

T-M3x 10
]

—~y

=

Buffer
i ® PEC-004 /

- FWM6
Nut M6

Panel float spring

PL-55X

NQTE: Parts indicated in green cannot be supplied.

latter

— Stopper pin

PNW-046 o/

M EH R

Panel float spring
PBH-008

—————

17


Klepaczewski


6.3 AUTO RETURN ASSEMBLY (PXA-OSG)(\/ ‘

NOTE: Parts indicated in green cannot be supplied.

Washer
B822-602

Spacer T E3
P " 7 Teflon washer
KLA-252
M3 x 8 B23-635
? N-M3
Plate rod M3x 12 .. S SW.M3
KNA-281 1 ‘ EPS'MSZWBI\’A(;G
i LT plate
g —l - . N61-623
Teflon washer —
B23-635 Spring
‘ % KNK-145 KBH-049
E-3 Teflon washer
B23-635 ,
Spring --— —— - o ‘ : { S e -
B31-612 Spri o ‘ .- PS:M2.6x 10
pring ——I1-~ ‘ kel
N-M3 ] S ate
KBH-044 ‘
Washer o y/ ’ EW-MZG KNA-288
Adjust screw |- B22601 (/. S-M?.Gx
KLA-683 Spring _ sty | - ' T oo
KBH-050 - ‘
PN E.3 - @ Teflon washer
NG w | KBF-007 =
. Set screw ™ . e~ | Sprin
Leaf switch \ pring
KSN-001 M2 x 4 KBH-042
b ® ; g " E-3
SW. M J - ‘ El o Lug terminal (without assermbly)
PS:M2.6 x5
Sems A

M3x 12 PNW-058
Aluminum plate

W71-602 CA S
. FWM3
Cord fixer s 2
. W.M
Microswitch KEX-004
KSF-023 : Screw
Sems A M3 x5
M3 x 6 . : >
v Yo T
4 E Sems A
; b y Sems A, [ M4x10
(PN -
w O\ . Rubber pack ing
Switch spring ® ; S Fiber washer 'KEB-035
PBK-001 é & ¢ KBF-006 E Sems A
PS-M2.6 x4 M4 x 30

18


Klepaczewski


6.4 SPEED SELECTOR ASSEMBLY

Speed selectyﬂech
KXA-767

(KXA-766) v~

PL-55X

NOTE: Parts indicated in green cannot be supplied.

Knob
KLA-518

Tapping Screw

KCS-006

Push button
KLA-627

é Spring KBH-099

Spring

‘%JKBH-OZQ

Flat washer M3

@ Washer

KLA-155

€ E type washer

Microswitch E3
KSF-016

Rubber washer
KNK-109

19


Klepaczewski

Klepaczewski


6.5 TONE ARM

NQOTE: Parts indicated in green cannot be supplied.

Lateral balance weight
KXA-420 o/

Sub weight

Tonearm assepnbly KLA-131

PPD-511

Main weight
KXA-756

Elevation she
KXB-768

Nut
B71.619 ¢
Washer. e
72574 v o Knob
T e N51-076
KAA-013 /
Arm rest asserpbly =7
——Q'KXAJS Screw
‘ M3 x 10

Escutcheon

PNW-044 /
h

Elevation assembly

Function lever knob Spring > KXA-760
KNK-122 ¢ B31-696
- % FWM4

E3

20


Klepaczewski

Klepaczewski


PL-55X

6.6 CIRCUIT BOARD

NOTE: Parts indicated in green cannot be supplied.

Printed circuit board

Fuse holder
K91-006

Fuse (315mA)
C&) KEK-008
Mylar tape
EIE P253 /

e
Capacitor

KCE-OOQI{

Resistor ‘ .. o S

L)
RS2P1034 ! >
——————— * : .

)

1

[

3

| .

T-M3x6

Cord cramyper

Sems BM3x 8

Transformer

L]
[Io]

— Transformer holder
1 KNA-621
S ———re— /
Cushion
rubber

KEB-065
S ————h

21


Klepaczewski


6.7 ANTI-SKATING ASSEMBLY (KXB-216) /

NOTE: Parts indicated in green cannot be supplied.

Plastic cam
KXB-048

KBH-095

6.8 PU-PLATE ASSEMBLY (PXA-065 (/

NOTE: Parts indicated in green cannot be supplied.

PU plate
assembly
PXA-065

PS-M3 x 16 8 Nut M3

22


Klepaczewski


PL-55X

6.9 POWER SUPPLY CIRCUIT ASSEMBLY (KWR-033)

NOTE: Parts indicated in green cannot be supplied.

Diode Sems A
WZ-192 M3 x5

Resistor x
RD%PS 681J 250234

a
Capacitor (C102) ®
CEA 101P25

Capacitor (C101) > 1S-1885
CEA 331P35 S
Capacitor {C130)
CEA 330P35
Sems A
M3 x5
Fuse (315mA)
@ KEK-008
" Fuse holder

K91-006

Boss
KNK-186

6.10 START LEVER ASSEMBLY (KXA-761) /

NOTE: Parts indicated in areen cannot be supplied.

a3


Klepaczewski


6.11 UPPER BOARD

NOTE: Parts indicated in green cannot be supplied.

Lock piate
N61-084

Dust cover
KNK-266

Upper board
PMM-018
Wood screw
M3.1 x 13
Hinge 5
KXA-603

Cord stopper
£32-056

KL
Output terminal assembly )
KXA-571

————————

24


Klepaczewski


PL-55X

Power cord
D54-019

THRTY T N
e

6.12 UNDER BOARD

8
=%
ik
pv4
E>
Z ¥

Y Name plate
PAV-003

@)

/ ®

Sy

A N
w3 ® N
o > D
-~ 2
2 o 55 o
o 5 <Q €5
) © € c
g 2 5 - U
O ~ v X X vs
3 MP ™ o
o™ 0 52
=2 - Bew
g

‘ﬁ.‘[
Ui

25


Klepaczewski

Klepaczewski


6.13 PACKING METHOD

NOTE: Parts indicated in green cannot be supplied.

Ny

Rubber mat assembly

Vinyl bag KEA-019

E11-024

Upper board
KHC-059

Operating instructions
PRB-020
PRD-010 (German/French)

Styrotector

KHA-226 Accessory case

N

Styrotector
KHA-226

Dust cover
KNK-266
Vinyl bag

H56-603

‘0
[Vl
t

v
J
gl

Output cord
\ PDE-003

Foe e e et

Styrotector
KHA-227

Styrotector
KHA-227

Viny! bag
345 x 395 x 0.05

Packing case
PHG-057

26


Klepaczewski


PL-55X

6.14 ACCESSORY CASE

Cover
KHX-027-0

EP adabtor
KNK-055
Vinyl bag
Overhang gauge 60 x 120 x 003
Head sheli

KNK-290 )
Pioneer model

PP-303

Vinyl bag
60 x 120 x 0.03

Sub weight
KLA-131 /

Screwdriver
KEX-002

Viny| bag
50 x 70 x 0.03

Cartridge mounting nut
’ B71-653

Main
weight
KXA-756

Lateral Cartridge mounting
balance weig washer B23-642
KLA-438

Plate
NE4-698

\"Cartridge mounting screw
B11-044 {13 mm)
B11-657 {11.5 mm)
KBA-044 {5 mm)
KBA-043 (8 mm)
KBA-045 {15 mm)

i
Accessory case
KHX-026

27


Klepaczewski


STEREO TURNTABLE

L-55X

KUT

{ART-104-0>




—

|
i
|

CONTENTS
SPECIFICATIONS . .. i i e i 2
PARTS AND THEIR FUNCTIONS . . ottt ittt it ettt it e 3
OPERATION OF MOTOR AND MECHANISM
3.1 1Y 10 o 5
3.2 Prior to Start Of Playing . .. oo v ittt ittt et ettt e 6
3.3 REtUMN OPEIAtOM . . . v e v s e e ettt e e e e e e e e e e e e 7
3.4 Stopping Under MIBNUAL o e et e et e e e e e e e e e e 8
ADJUSTMENT
4.1 Tonearm Will Not Returnto The Arm Rest . .. ... .ttt 9
4.2 Tonearm Returns to The Arm Rest Before The Record Finishes ............... 9
4.3 Tonearm Return Speed IsIncorrect . ... ..ttt i 9
4.4 Tonearm Stops before It Reaches The Arm Rest ............... ... . s, 9
45 Tonearm Hits The Inside of The Arm Rest . . ... ..ottt 9
4.6 Tonearm Boundsin The Arm BRest . . ...t i e inns 10
4.7 Arm Elevator Will Not Move at A Correct Speed . ......... .ot iiirinerennnnn 10
4.8 Turntable Will NOt TUrN OF StOp . oo v vttt e et e st e s 10
4.9 Adjustment of The Shorting Switch Contacts ............ .. ... ... ... ... 10
4.10 Adjustment Procedure .. .......uiutiiutniii i e e 10
4,11 Adjustment of Motor Speed ........ P B R 11
SCHEMATIC DIAGRAMS AND P.C. BOARD PATTERN
5.1 Schematic Diagrams ... ... it i i i e e e e e e 12
5.2 Power Supply Circuit Assembly . .............. e 13
EXPLODED VIEW
6.1 L0707 £ =1 11 - 15
6.2 Main Panel .. ...t e e 17
6.3 AUto Return AsSemblY oot e e e 18
64 L] =TT IESY=1 =11 (o e 19
6.5 e 1= 107 2 T 20
6.6 Circuit Board .. ..ot i i i e e e e e 21
- 6.7 Anti-Skating ......... P e e e e e 22
6.8 I8 = 7 = 22
6.9 Power Supply CirCUit . ... i ittt i ittt e et e 23
B.10  Start Lever .. ... . 23
6.11 UpperBoard ............cciiiiiiiiiinnnnnnennns e e 24
6.12, UnderBoard .........o.iuiiinii i e 25
B.13  PACKING .« .ottt et e e e e e e e 26
B6.14  AcCesSOrY Case .. v v vvir ettt et s e 27




1. SPECIFICATIONS

MOTOR AND TURNTABLE

Motor ... Brushless DC servo motor
Turntabledrive ........ .. ... i, Direct-driven
Speed .ot e Two speeds, 33-1/3, 45 rpm
Wowand flutter ..............c.counn 0.05% (WRMS) or less
SIN Lo e 58dB or more (in case of using
' Pioneer cartridge model PC-50)
Turntable platter .......... 31cm diam. Aluminum-diecast alloy
TONEARM
Tonearmtype .............. Static balance, S-shaped, pipe arm
Effectivearmlength ... ... .. .o o i, 22Tmm
Usable cartridge weight ............... 4g (MIN) ~ 14g (MAX)
Overhang .. .....vur it i i 15.5 mm
Accessories
Weight plate (cartridge weight adjustable) .............. e 1
Cartridge mouNnting sCrews .. ..vvteiiineeeiieenenennnn. 10
Cartridge mounting nuts . ........ccvivirenernennennn, 2
Cartridge mounting washers ............ ... .o, 2
45 rpmrecord adaptor . ... ... it e 1
Screwdriver ... ... 0. e 1
SUb Weight .. i e e 1
Overhanggauge ..........ooiviiivnnneieiiannaai, 1
Connection cord (outputcord) .........ccovvineernnv... 1
Operating instructions ... .. ..ot 1
SUBFUNCTIONS

Automatic return tonearm system

.Skating force canceler

Hydraulic cueing device

Plug-in type light aluminum head shell

Dust cover with free stop hinges

Lateral balance control

Wooden base with anti-acoustic feedback suspension
Strobolight

MISCELLANEOUS
Power requirements .. .......cooiiiiia.. AC120V 60Hz
Power consuUmMpPtion .. ...oveeiinerrneenneann. 5.2W (MAX)
Outer dimensions ............ 480(W) x 185(H) x 410(D) mm
18-7/8(W) x 7-5/16(H)
x 16-1/8(D) in.
Weight . ... .. 11.3kg 2415 150z

)




NS XSST1d

(0)e

2. PARTS AND THEIR FUNCTIONS

Stroboscope

Refer to the accompanying illustration for positioning of
the strobo in respect to the line frequency and turntable

speed. On moving the function lever from OFF to ON/UP

and DOWN, strobolight is lit.

STROBOSCOPE
50Hz
60Hz 23— 33 1/3 rpm
50Hz - +— 45 rpm

STROBOLIGHT

Cartridge Stylus Cover ' o

Bring the cartridge stylus cover into position when the
PL-55X is not in use as shown in the accompanying
illustration.

45-rpm Record Adaptor
A 45 rpm record adaptor is supplied in the accessory
group, which permits 45 rpm EP records with large center
holes to be played.

i

Function Lever —
At ON/UP
The turntable is driven. In moving this lever from DOWN
to this position, the tonearm (stylus) lifts slowly from the
record surface, thereby interrupting operation.

At DOWN

The tonearm is brought into position over the record. |

Setting. the lever to this position gently lowers the stylus
onto the record. Playing starts at this time.

At OFF

Moving the lever to this position from DOWN causes the
tonearm to lift and return to the arm rest. Power is cut off
and the turntable stops.

NOTES:

1. On moving the function lever from DOWN to OFF
pause at the ON/UP position until the arm lifts from
the record. Failure to do so may allow the stylus to
bounce against the record and drag across it.

2. Also once you have moved the function lever to
DOWN wyou cannot immediately return it to OFF or
ON/UP.

3. Wait until the tonearm has floated down on the
record and begun to play. Only the playing may be
interrupted. ‘

a
BN e,
BV @
AN
—

e Arm Rest

The arm rest supports the tonearm. The tonearm should
always sit on the arm rest when a record is not in use.

Ordinarily, the arm clamp should be engaged to lock the

tonearm in place on the rest.

ARM CLAMP

~Fine Speed Adjustment Knob

With the turntable operating at 33-1/3 or 45 rpm, make
fine speed adjustment while observing the stroboscope.
Turning the knob in the (+) (clockwise) direction in-
creases speed while turning it in the (—) (counterclock-
wise) direction decreases speed. Marks on the turntable
must appear to ‘“‘stand still” under strobolight, indicated
correct speed.

=, 33-1/3rpm
S STICRD
4’2 45 rpm

—-33-1/3 rpm Speed Switch
Push this switch if 33-1/3 rpm records are to be played.

= 45 rpm Speed Switch

Push this switch for 45 rpm operation.

hd @—33-1/3 rpm

= -~ 45 rpm

PL-55X

OPERATION

Operation of the PL-55X is uncomplicated. Use the

following procedure.

1. Place the record to be played on the turntable.

2. Move the cartridge stylus cover out of position.
Release the arm rest clamp.

3. Move the function lever from the OFF position
to the ON/UP position. At this time, the
turntable begins to turn.

4. Push the speed button (33-1/3 or 45 rpm)
corresponding to the speed of the record to be
played.

5. With the strobolight on, adjust the fine speed
control until the turntable appears to ‘‘stand
still”. Turning this control in the (+) direction
raises the speed, while turning it in the (—)
direction decreases the speed.

6. After the speed has been set to the proper value,
carefully move the tonearm into position over
the lead-in record grooves to be played.

7. Set the function lever to DOWN. The tonearm
drops gently to the record grooves and playing
begins.

8. To stop playing at an intermediate point, move
the function lever to the ON/UP position. If
operation is to be suspended, move the function
lever to the OFF position. (This action returns
the tonearm to the arm rest and stops the
turntable).

9. Upon completion of playing, the tonearm re-
turns automatically to the arm rest and the
turntable stops. The function lever returns auto-
matically to the OFF position.




3. OPERATION OF MOTOR AND MECHANISM

3.1 MOTOR
Construction of motor control for the PL-55X is

de
1

picted in Fig. 2.

. Applying power sets the oscillator into opera-

tion. Output of this circuit passes to the pole
position detecting circuit (L1 ~L6).

. Here, assume that coupling between L1 and L4

" is the tightest. Voltage induced in L4 is rectified

and applied to Q106/Q109 in the driver.

. Q109 in turn conducts and causes current to

flow in the associated drive coil (A-1). The rotor
moves in the direction shown by arrow in Fig. 1.
The magnetic pole affixed to the rotor induces a
voltage proportional to rotor movements, in the
sensing coil (A-4).

. Voltage induced in A-4 is rectified by a diode in

the speed sensor and applied to Q103 in the
control stage. This point is also fed from the
reference voltage generator (voltage Es) through
a fine speed control pot. '

. Voltage applied to the base of Q103 in the

control stage ~controls current that flows in
Q104. ,

. Q104 serves as a constant current source for

Q106 through Q111 in the driver and therefore
controls current flow in the drive coils.

Pole Position Detector

Fig.. 1 shows a simplified view of the drive and
sense coils. With power applied and coupling
between L1 and L4 high, Q109 causes current to
flow through A-1. As a result, the rotor end of coil
A-1 becomes a south pole (S1) and attracts N1.
The rotor moves in the direction shown by arrow.
Coupling factor between L2 and L5 increases and
operation of Q110 causes current to flow in coil
A-2. Pole S2 attracts pole N2 and rotor rotation
continues. In the same manner, S3 attracts Pole
N3. Continuation of this process causes the rotor
to turn on a steady basis.

ROTOR

DIRECTION OF
- ROTATION

POLE POSITION

. When ambient temperature change causes driver DETECTOR Fig. 1
~current to rise, the speed of rotation increases
above the rated value. Q104 current increases
—and Q106 ~ Q111 currents decrease. As a result,
- the speed of rotation falls off. GONTROL STAGE
+8
33l
~ -V
Es Ous
Eo
Qioz !
|
Qio
~ | OSCILLATOR REFERENCE VOLTAGE:
GENERATOR
p— +8
- (P | 2
L8381 i) \5)_ "o 2
Le Quos A-| ém
1¢ : o
Lz g_f 0 @z—@ a-28 845 -
Ls 107 | :
L é o 1 Qiio L :
3 Y g
Le I Qos ! _A-._§3 EA-G T
2,
. S Qe
"POLE POSITION DRIVER . DRIVE SENSING SPEED SENSOR
DETECTOR COILS COILS Fig. 2

3.2 PRIOR TO START OF PLAYING

1. After the tonearm has been swung into place for
the start of playing of the record, moving the
FUNCTION lever to the ON/UP position causes
plate (1) to turn through connecting link (1) to
the point at which pawl (1) engages plastic arm
(1). _

2. Plate (2) turns along with plate (1), through

- action of interconnecting spring (1). Upon com-
pletion of this action, the microswitch actuator
is released, thereby applying power to the phono
motor. The turntable begins to revolve.

S

PLASTIC
ARM(1)

MICROSWITCH
LINK(T) ACTUATOR
FUNCTION

LEVER

No interference to
movement of plastic
arm.

\
: a LINK(1)

3. Moving the FUNCTION lever to the DOWN

position turns plate (1) still further through link
(1). Pawl (2) engages plastic arm (1).

. The arm elevator riding on the cam portion of

plate (2) drops, lowering the tonearm onto the
record.

. Pawl (3) of plate (2) applies pressure to plastic

arm (2), so that there is no interference to
motion of the stop required for automatic
return operation.

PIN OF PLASTIC ARM
PLASTIC ARM(2)

Cam action allows
tonearm to drop.

PLATE(2)

Fig. 4




Vs

3.3 RETURN OPERATIONS

1.

When the tonearm is going to come to the inside
(end) of the record, the pick-up lever applies
pressure to the aluminum arm. This means that
the arm is coupled indirectly to the plastic arm.
Resultant action causes the end of the plastic
arm to swing toward the center of the turntable.

. As soon as the tonearm enters the return groove

of the record, the pin on the bottom of the
turntable imparts a kick to the plastic arm.

. Motion of the plastic arm at this time acts on

plastic arm (1), thereby releasing plate (1).

. Plastic arm (3) then locks plastic arm (1). Tkis

action closes the shorting switch so that noise
will not be generated as the tonearm separates
from the record.

. Plate (1) returns through action of spring (2).

Plate (2) also returns.

PLASTIC ARM

e
TURNTABLE SHAFT !

Playing operation. Return operation.

¥ PLASTIC ARM

. LUMINUM
Plastic arm does not Plastic arm kicked QRM
move during normal  when. tonearm enters
play. return groove.
PLASTIC ARM

PLASTIC 3

/&»
IS

PL-55X

. Return of plate (1) results in the following

sequence.

Pressure is applied to plastic arm (1) and the
FUNCTION lever is forced back to the OFF
position.

Action of link (2) returns the aluminum arm to
the start position.

. Return of plate (2) results. in the following

sequence.
Action at the cam portion of plate (2) lifts the
tonearm from the record.

Plate (3) indirectly coupled to plate (2) swings
the tonearm back to the arm rest.

Pressure is applied to the microswitch actuator,
opening the microswitch contacts and stopping
the phono motor.

Pressure applied.

_ PICK-UP LEVER

Pick-up lever and -
tonearm directly
connected by shaft, Fig. b

Cam action lifts tonearm
) - while motion of PLATE(3)
I PLATE(3) swings tonearm back to the

ARM(1)
arm rest.

SHORTING N3
SWITCH

Pawl disengaged when PLATE(2)

plastic arm kicks plastic

arm(1).

- MICROSWITCH
= MICROSWITCH ACTUATOR Fig. 6




3.4 STOPPING UNDER MANUAL

1. Moving the FUNCTION lever to the ON/UP
position causes pawl (1) of plate (1) to engage
plastic arm (1). Phono motor operation begins.

2. Moving the FUNCTION lever to the OFF
position causes plastic link (4) to shift, in turn
desengaging pawl (2) from plastic arm (1).

3. Action of spring (2) returns plate (1). As a
result, the phono motor stops, as described
under (6) and (7) on page 7.

4. Moving the FUNCTION lever to the DOWN

position initiates playback of the record.
When this lever is moved from the DOWN to the
OFF position, pawl (2) is disengaged from
plastic arm (1) through action of plastic link (4).
The phono motor stops, as described under (4)
through (7) on page 7.

P_ASTIC ARM(1)

w‘ | w ;‘
FS ‘ PLASTIC
]

PAWL(2) ARM(1)
SHORTING

[ b
p switey \
r’ PAWL(1)
PLASTIC LINK(4) )
PLATE(1)

Fig. 7

PLASTIC LINK(4)

ol

V.CCTY

LTS ST AN SIS N

A TIENS 2% 31




4. ADJUSTMENTS

4.1 TONEARM WILL NOT RETURN TO

THE ARM REST
If the pin at the back of the turntable is not (or
incorrectly) engaged with the plastic arm the
tonearm will not return to the arm rest. The
probable causes of the trouble are as follows;
(a) The tip of the plastic arm bends downward.
(b) The pin is bent.
(¢) The pick-up lever is incorrectly mounted.
In case (a) or (b) is responsible for the trouble,
correct the curve of the plastic arm or the bend of
the pin. If necessary, replace the plastic arm as the
case may be.
In case (c) is the cause of the trouble, adjust the
screw provided at the tip of the pick-up lever so
that the pick-up lever will push the aluminum arm
when the head of the tonearm reaches the point of
130¢ from the center of the turntable (Fig. 8).

4.2 TONEARM RETURNS TO THE ARM
REST BEFORE THE RECORD FINISHES
The pick-up lever is incorrectly mounted. The best
solution to this trouble is to replace the plastic
arm.
This trouble also occurs when the plastic arm fails
to move smoothly. Oil the automatic return
mechanism.

4.3 TONEARM RETURN SPEED IS
INCORRECT

If the return speed is too slow, first insure that the

cause is not due to dirt. :

Adjust spring (2) tension to give the correct spring,

increasing tension to increase speed and reducing

tension to decrease speed (Fig. 9).

o~ lurn the nuts.

Z
f//,,,
Q

SPRING(2)
Fig. 9

PL-55X

4.4 TONEARM STOPS BEFORE IT

REACHES THE ARM REST
This trouble occurs when the plate (1) and the
plate (2) fail to move smoothly.
Oil the plate (1) and plate (2) first and see if they
move smoothly.
If not, replace them.

4.5 TONEARM HITS THE INSIDE OF
THE ARM REST

See if the head of the tonearm rises 5 ~ 10mm off
the turntable with the FUNCTION lever set to
OFF. If the tonearm rises incorrectly, adjust the
height of the arm rest by means of the screw
provided on the arm rest base; if not, adjust the
height of the elevator rubber by means of the
adjust screw on the elevator arm shaft (Figs. 10,
11).

t UP AND DOWN

SCREW

N

ARM REST BASE"

T \




4.6 TONEARM BOUNDS IN THE ARM
REST

The tonearm hits the inside of the arm rest and
bounds. The tonearm moves too fast, correct the
speed in the manner described in “Tonearm return
speed is incorrect”.

47 ARM ELEVATOR WILL NOT MOVE

AT A CORRECT SPEED
Adjust the tension of the spring (1) attached to the
plate (2). Turning the screw clockwise will make
the plate (2) move slowly: turning it counterclock-
wise will make the plate (2) move fast (Fig. 12).

4.8 TURNTABLE WILL NOT TURN OR
STOP

This trouble indicates that the microswitch is not

functioning correctly. Repeat automatic return

cycle several times and adjust the microswitch

actuator so that it performs ON, OFF action

correctly (Fig. 13).

4.9 ADJUSTMENT OF THE SHORTING
SWITCH CONTACTS

If the shorting switch does not contact at the very
moment the tonearm starts returning, a pulse noise
may be reproduced through the speakers.

4.10 ADJUSTMENT PROCEDURE

1. Set the FUNCTION lever to the OFF position..

2. Confirm that the plastic arm (5) is at the
position shown in Fig. 14. If necessary, pull
plastic link (4) so that (5) moves to this
position. ,

3. Loosen the screw fixing the shorting switch
contacts so that no gap remains between plastic
arm (1) and the molded portion of the switch
assembly.

4. At this time, contact clearance should be
0.3~ 0.7 mm.

10

PLASTIC pLASTIC
ARM{1)  ARM(5)

FUNCTION LEVER

Fig. 13




AT

4.11 ADJUSTMENT OF MOTOR SPEED

When adjustment of the fine speed control doss
not give a satisfactory speed, adjust the motor in
accordance with the following procedure.

1. Remove the bottom cover.

2. Set the fine speed control to the midposition.

3. While observing the edge of the turntable plattzr
with a strobo, adjust screws inside the motor as
shown in Fig. 15.

4. Alternate switching between 33-1/3 and 45 rpm
speeds while making adjustment. Make sure that
both speeds are correct.

Use screwdriver
for adjustment

First set knob to
midposition

Fig. 15

11




5. SCHEMATIC DIAGRAMS AND P.C. BOARD PATTERN

5.1 SCHEMATIC DIAGRAMS

- GREEN
Rch UTFPF———====czommmmmms ‘}—I——%:_—SESE
Lech QUT ?‘ ————— G——f—‘o 3STBLUE
SPEED SELECTOR BODY
33rpm
—O Si
—_——
—O
45rpm

’ 'm 1 BRO
«\m ORANGE YELLOW

POWER Sw

o
S2

RED BLACK
__S_IB_OI:Q_I____3101ZSD234
Dmmm ——————
ial
> 0 I’ |5
IS St
3 =1
bt 2 EI
S < |
e __ DusWZ192 J6F
POWER SUPPLY CIRCUIT ASS’Y

KWR-030-E

AC POWER

25D234

o

I

12

‘i

XEC A

ne

AT




WS  XSS1d

PL-55X

5.2 POWER SUPPLY CIRCUIT ASSEMELY (KWR-030-E) ;
NOTE:

(o)} 4

o CAPACITORS: INUF UNLESS OTHERWISE NOTED p: pF
e RESISTORS: INS2, %W UNLESS OTHERWISE NOTED k: R, M: MS)
CAPACITORS SEMICONDUCTORS
Symbol Description Part No. Symbol Description Part No.
________________________ C101 Electrolytic 330 35V CEA 331P 35 Q101 Transistor 2SD234
r —i €102 | Electrolytic 33 35v CEA 330P 35
| Dio1~10a SIBO1-01 25y Q10 280234 C103 | Electrolytic 100 25V | CEA 101P 25 D101 | Diode SIB01-01
| FUSE bt " ' 4‘ 5 18v D102 | Diode SIB01-01
1 ?M_« = D103 |* Diode S1B01-01
0.3A 1€ 3 L2 A= : RESISTORS D104 | Diode S1B01-01
: (5) o= R 02 19y I:> I Symbol Description Part No. D105 Zener diode WZ-192
oL Lw Cle
I bt 5| g3 680 | R101 | Carbon film 680 RDY%PS 6814
20— o oFa R102 | Carbonfilm 680 RD%PS 681 OTHERS
| —¢ o $ 6 E Symbol Description Part No.
| Dyos WZ-192 |
T g Fuse 0.3A E21-030-0
Foil Side

13

14




6. EXPLODED VIEW
NOTES:‘ PS ......... Pan head screw

6.1 CONTENTS Tone arm See page 20 ‘
Upper board T e Tapping screw
/\Qe page 24 SemsA ... Pan head screw + Spring washer
. SemsB ... Pan head screw + Spring washer + Flat washer
' SemsF ... Pan head screw + Flat washer
......... Flat washer
Spring washer
Nut
E-type washer

/

Main panel
See page 17

.

PU—plate

——' ) Power supply circuit - .
,See page 22

% . % See page 23 —

% See page 22 |

Start lever
T See page 23
0 |
s |°® 8o , @
o
Circuit board “See page 21 Speed selector  See page 19 Auto return assembly See page 18 ] Under board  See page 25 |

15




WS XSS1d

- (d)S

PL-55X

6.2 MAIN PANEL

Ring
KAH-007-A NOTE: Parts indicated in green cannot be supplied.

Rubber mat
KEB-058-A

Turntable platter

HKXA-758-B
4
,:",23‘0’
E-3
@
Stopper pin
KXA-764-A

Panel float spring

PBH-006-0
Name plate
PAM-003-A

-—t—Stopper
PNW-046-0

Strobo lamp
KEC-004-C
Angle

Buffer ——— KNB-029-A

PEC-004-0
Main panel
PNA-007-A
PS-M3 x 6
Cord fixer = Panel float spring
KEX-004-0 . = pBH.008.0
Buffer
g Cord fixer 2 J PEC-004-0
Panel float spring & KEX-004-0 y \LFWMG
PBH-007-0 % Angle ~ud Nut M6
KLA-680-8B

Buffer KNB-029-A
PEC-004-0
Buffer
PEC-004-0

17




63 AUTO RETURN ASSEMBLY (PXA-044.0)

NOTE: Parts indicated in green cannot be supplied.

Teflon washer
B23-635-0

Adjust screw——f————

KLA-683-0
Coliar \
N51-609- O

Coupling plate
W72-604-0

Spring
Spacer KBH-041-0——=Y @] "E3
KLA-2520  Crénkrod >-|-Teflon washer
§ KXA-244-C. B23-635-0
Plate rod t P N.M3
KNA-281-0 o Lswms psmasxa

Slide cam
KNK-145-A

Teflon washer

Spring
531.610.4 | B23-6310

Spring

Sprmg
KBH-050- 0

Set screw
M2 x 4

Leaf switch

K

Cover
KNK-237-0

18

rl_ock lever

Angle
PNB-033-0

SN-001-A [

PS-M3 x b

Aluminum plate
W71-602-0

Cord fixer
M16-610-0

| N64-605-A
Rubber packingl
KEB-035-C

Fiber washer _

NB1-623-A
————Rotator plate

|
‘% KXA-246-A

Spring
KBH-049-0
B22-603-0 Rotator plate
tLever <NA-289-0
KNK-146-A PS-M2.6 x 10
| Lock lever ~Plate
PNW-043-0 KNA-288-A
Washer - "By PS.M2.6 x 4

B23-601-0 W M2.6
-Return lever @ Return guide plate
K\K 148-A \/V/1 -603-B

Teflon washer

PNW-042-0 KBF-007-0

Spring
KBH-042-0

Lug terminal (without assembly)
KKC-021-0

Adjust lever
W72-697-A

Rotator plate
W72-603-A

Sems A é

M4 x 10

-Protection angle
PNB-034-0

Cover
KNA-287-0

PS-M2.6 x 4




h A d 4~ = AR

NV 7

PL-55X

6.4 SPEED SELECTOR ASSEMBLY (KXA-766-D)

NOTE: Parts indicated in green cannot be supplied.

Knob
KLA-518-A

Tapping Screw
M3 x 6

Tapping Screw ’ Variable resistor
KCS-006-A

Speed selector mech Push button
KXA-767-C Ki.A-627-0

Spring KBH-099-0

Angle K

Blind sheet

KNA-192-B KED-023-0
Spring
Shaft W3 | : Qg KBH-029-E
KLA-154-0 - ) Angle
" KNA-190-D
Flat washer M3
EZQ Cover

1% e

KNK-237-0
1
KLA-1556-B
SW-M2.6 Lever
KNA-191-B
@ E type washer

PS:M2.6 x 14 Microswitch E3
KSF-016-0 Rubber washer

KNK-109-0

19




65 TONE ARM .

. Lateral balance weight : ,
NOTE: Parts indicated in green cannot be supplied. KXA.420-B '

Sub weight

Tonearm assembly KLA-131-0

PPD-518-0

Main weight
KXA-756-0

|
M .

Elevation sheet /
KXB-768-B !

Nut
B71-619-0
Washer
B22-632.0
Arm clamp spring
KBH-125-0

T Knob

(€ N51-076-A —

Knob
— i KAA-013-0

Arm rest

Arm rest assembly KEC-045.A
KXA-759-0 Screw

Arm rest M3 x 10

holder
KLA-671-0

Escutcheon
PNW-044-0

]
|
Shaft holder g

KLA-325-0
) Elevation assembly
Function lever knob Spring ECA 3260 KXA-760-0
KNK-122:0 B31-696.0 e

20




6.6 CIRCUIT BOARD

PL-55X

NOTE: Parts indicated in green cannot be supplied.

Printed circuit board

KNP-024-H

O |

in

Fuse holder

/\ K91-006-0

N
%use (0.3A)

E21-030-0
—— Resistor

TSRS 2P 103

Capacitor
\ C43-003-0
Capacitor

KCE-009-0

T

Plate
PNB-032-0

T-M3x6
Cord cramper
KNK-213-A

Sems B M3 x 8

Terminal
KE-006-B

SemsA
M4 x 12

Transformer
KTT-015-0

¢

Cushion
rubber
KEB-065-A

g SemsA

M4 x 16

@ ]—| 7
o 8
L]

Transformer holder
KNA-621-0

21




6.7 ANTI-SKATING ASSEMBLY (KXB-162-C)

NOTE: Parts indicated in green cannot be supplied.

Plate
KXB-194-0

Washer
KNA-717-0

Plastic cam
KXB-048-A

KBH-095-D

6.8 PU-PLATE

22

NOTE: Parts indicated in green cannot be supplied.

PS-M3 x 8

g PS-M4 x 6
SW-M3 &

PU plate Spring
assembly B31-042-0
KXA-765-B

Balance weight
KNH-099-A

Nut M3

PS-M3x 16 & Nut M3




6.9

PL-55X

NOTE: Parts indicated in green cannot be supplied

POWER SUPPLY CIRCUIT
Diode Sems A
WZ-192 M3 x 6
Resistor il
RD%PS 681J || | Transistor
b 2
Capacitor (C102) @Qin Hea??;i::l
CEA 101P2 .> KNA-582-A
. —r—Diode
Capacitor (C101) , | 1S-1885 Terminal (type B)
CEA331P35 Q’? ) @ Eﬁ mKNA-222-0
) J
Terminal {type B) ~Capacitor (C103)
KNA-222-0 L CEA330P35
Printed circuit board
SemsA KNP-048-C
M3 x5 Fuse (0.3A)
%} E21-030-0
@ Fuse holder
K91-006-0
KNK-186-A
6.10 START LEVER ASSEMBLY (KXA-761-A)
Plate NOTE: Parts indicated in green cannot be supplied.
KXA-762-0
©
=)
§ °
A BTm3xe
T-M3x 6{
Angle
KXA-763-A
M5

23 .




6.11 UPPER BOARD

NOTE: Parts indicated in green cannot be supplied.

,‘\\\‘

) N
l g S
; rg‘\\‘ 1

Lock plate
N61-084-A
Dust cover
KNK-266-A
Upper board
PMM-018-C
Wood screw

M3.1x 13
Hinge

KXA-603-B

E32-056-0
Angle

KNA-522-C

Nk
Output terminal assembly Q
KXA-571-E

24




PL-55X

6.12 UNDER BOARD
: Power cord
KDG-011-0

e

3 Name plate
KNK-253-D

Wood screw
M3.1x 16

Name plate
KNK-254-C

i
l“Illlllllllllllllllllllll

(A
Insulator assembly

PXA-047-0

T-M3x8

Under t‘:oard ( Ecj )
PNA-008-0

Bottom cover
KMS-074-0

25




6.13 PACKING ;

,{'(m
NOTE: Parts indicated in green cannot be supplied. N
Rubber mat assembly
Vinyl bag ~ KEA-019-0
E11-024-0 pper board
. KHC-059-0
{
H
Operating instructions i
PRB-014-0 )
Styrotector
KHA-226-B
\\ ~ Styrotector
Dust cover .\\ M KHA-226-B
" KNK-266-A \
Vinyl bag
H56-603-0 _
PS-M5 x 20
Washer
B22-026-A —
Caution card '
PRW-003-0
Styrotector
KHA-227-A ¢
< <
A

(=] o
Turntable platter

Styrotector

KXA-758-B KHA-227-A

Packing case
PHG-039-0

N/

26




PL-55X

e 6.14 ACCESSORY CASE

Cover
KHX-027-0

EP adaptor
KNK-055-0
> Vinyl bag
Overhang gauge 60 x 120 x 0.03 ead shell
KNK-290-0 i
> Pioneer mode!
P PP-303
Vinyl bag

60 x 120 x 0.03

N\

Plate
N64-698-A

A\

{ Sub weight
- KLA-131-0
r Screwdriver )
» KEX-002-A Vinyl bag

Main 50 x 70 x 0.03

weight Cartridge mounting nut

KXA-756-0 - B71-653-A

Lateral Cartridge mounting
m balance weight was]her B23-642-A
. KLA-438-C / N l

N

artridge mounting screw
B11-044-D
B11-657-D
KBA-044-D
KBA-043-0
KBA-045-0

'
L
N~/ SN

Accessory case
KHX-026-B

27




Printed in Japan

PIONEER ELECTRONIC CORPORATION
4-1, 1-Chome, Meguro, Meguro-ku, Tokyo 153, Japan

U.S. PIONEER ELECTRONICS CORPORATION

75 Oxford Drive, Moonachie, New Jersey O7074,U.S. A.
PIONEER ELECTRONIC (EUROPE) N.V.

Meir-Center Meir 21, 2000 Antwerp, Belgium

PIONEER ELECTRONICS AUSTRALIA PTY. LTD.

256-8 City Road. South Melbourne. Victoria 3205. Australia






